SREAOBER MR R—

BNERT T (1 8)

V9 3 TEBAKR

(441 1A 1 HER)

HER/AR—Y 75T

FT2INAR—=Y 7 5T

NPOENEEDBN A R—> 7 57
(EE)

(H) (SH)
NPO {4 NHIA AR — 7 e 2 NPOYENBAR—Y 7 57 b2y T
() (5H) CK+~1)
NPOVEARESHAR—=Y 7 Z7 | NPOIEANEL AR—Y 7 57 YUy e AR
CK+h) (B&Eh) (B
NPOJEANTIV T AR—=Y 2 57 o 77 AR EBHD
(FEpkT) (T €=l
AR AN — 7 57 A=Y L kil WEARI =777
(b)) (CKLImT) (R
—EARTENT D A~ A U — N - . —
ARG SAI Do. AR—Y WRILSI2DRT T 7
AR 777 (FBFT) (GTHFT)
CEE=LD)
¥R T 7 (3)
—RAHHEAN T 7RI X AR —Y DT 77 WCHRAAR—Y 757
(SH) (BEHHT) (B FEHT)
BEANOB R MRy 578212757 GEHr18757, HEH3 7 57)
WIS - - ¢ 1 ATHRETRL 1 O THlTHT GRERT7 3. 7%)
( WETIHIR AR —Y 7 TEOHE )
35
30 |
25 |
20 |
15 |
10 |
|
0 ,
H23 H24 H25 H26 H27 H28 H29 H30 RIi R2 R3
B957% wEREMATH
FRE H23 | H24 | H25 H26 | H27 H28 | H29 H30 R1 R2 R3
HS5TE 32 29 30 30 27 27 27 26 25 22
SRETMETAIE | 18 17 16 16 15 15 16 15 15 15
(& 19 THETAD | (94.7%) | (89.5%) | (84.2%) | (84.2%) | (84.2%) | (78.9%) | (78.9%) | (84.2%) | (78.9%) | (78.9%) | (78.9%)




